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Acid Base Pre-test
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1. All things that are acidic will eventually produce
a. OH- c. HCI
(o. :”'”H}‘éi) d. H,0
2. All things that are basic will eventually produce
OH ! c. HCI
TTH;0 d. H0
3. HNO,(aq) is an oxy-acid. Which of the following would best describe its name

a. nitric acid ic. nitrous acid j

b.  hydro nitric acid 'd. Nitrogen dioxide acid
4. Which of the following acids is considered the strongest?

a. 0.IMKat1.5E3 ) c. 0.IMKa=15E-10

b. 02MKa=15E-7 d. 2MKa=1.5E-12 ~O?E

5. A 0.1M HCI solution is titrated against an unknown NaOH solution. 10mL of the .IM HCl is required to reach the
equivalency point of 10 mL of NaOH. What is the concentration of the NaOH.
a. _0.05M \fwz o H " c. 0.15M

;i) om}%ﬁ»w » ok O d  02M

6. 10mL of 0.1M NaOH is requlred to neutralize 20ml of unknown HCl. What is the concentration of the HCL.

a. 0.05M AW c. 02M

b. 0.1M d. 04M
7. What are the products of the neutralfzation reaction between HCl and LiOH

a. H,O c. H3O+ & OH-

b, LiCl [ “H,0 & LiCl j
8. Caffeine is weakly basic. In which pH range does caffeine. tesE;“ ) N

a. 02 c. 8-12

b. 3-6 d- 1314
9. Ifasolution.is.neutral,, wh1ch of the following must be true?

[H3O*] =[OH] | c. [H30"]<[OH]
b. [H3O ‘1> [OH] d. [OH]=[H,0]

10. If a solution has a pH of 1 then the pOH =

a. 0 ic 13; TJ&

b. 1 d 14

___11. Ifasolution has a pOH = 1, it is also considered
a. acidic c. neutral

gmrljfmf“) d. can not be determined

12 lein is all of the following EXCEPT
neutral c. pinkin base§ R
b. chemical indicator d. greemsh/yéilow in ac1ds~\
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13.  Ammonium is a well known weak acid. (ammonium = NH4"). Which of the following would be the hydrolysis reaction
for ammonium.

a. NH,; + NH; = H,0O
b. NH4 j‘HzOﬁ NH‘1+0H1

- — R
{2 NI -mOo NH, LB

NH; + H,O = NH;" + OH"
Short Answer

14.

Can you manipulate and use all the pH formulas?
The stomach of a human is approximately 2.5. Calculate the following.

a. pOH “‘w{ 211‘;{:'?“ ggtﬁ

b e ions = s =1
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d. Acidic/basic/neutral?

15.

Can you calculate the pH of various acids?
Three solutions have their pH tested.

0.1 M NaOH 0.1M HCI 0.1IM HCN

a. Which of these has the highest pH? ~ [™J /& é f“) i€

b. Calculate the pH of the hydrochloric acid.
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c. Calculate the pH of the HCN (Ka: 1.8E-10)
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Can you lvrite out neutralization reactions and model them in beakers.
10mL of 0.1M HF is mixed with §L of 0.05M NaOH. i e
3»«3 i~ 5 'y J f. ay s
. M % ; {4 'l j&u [ v
a. Write out the reaction (molecular and net ionic) L ) .
HF+OH = Hy ot F
b. Draw out three beakers. 1 beaker for each starting solution and one for the final.
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17. ) Jgf ’_,:" ?v
éxiﬁ?" Can you do the standard titration calculations and model them?

~ (Our question will not model anything, see previous question)
An unknown acid is bemg\tltrated by 0.5M NaOH. The student fills the burette with the NaOH to the SmL line. Then
proceeds to measure out 2’031‘ with @ beaker. Before titrating, she adds 15 drops of Phenolphalthien. After the indicator
changed color the student added and extra couple of mL of NaOH just to make sure the color stayed. The burret
indicated a volume of 22mL Anwer the following questions.

1. How does the color of the indicator change? f
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2. What is two thing that the student do that is absolutley incorrect" *
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3. What is one thing the student did that was not technically wrong but not really standard in this type of process.
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4. Calculate the unknown concentration. Show all work.
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